Efficiency vs dr

x 0.8
< r
% 0.7;—
Py C
5 o8
Q -
5 0.5:—
0.4F
0.3
0.2
0.1+

o +Rf
g [
o r
1=
0.955

—=— DQM_original_1000evt
.| —— DQM_fitted4_1000evt

107

1072

[ Efficiency vs dr (track,jet) |

5005
00.045
=
X 0.04
<
£.035
>
20.03
c
$9.025
&
©0.02
0.015
0.0
0.005

1.0

Ratio

0.2
0.18F
30.16F
(]
'50.14F
t -
®o.12F
0.1
0.08F
0.06F
0.04F
0.02F

cy vs PU

.................................................

..................................................

B L A ST T
B et

1.9

Ratio

=

40 60 80 100 120 140
Pileup

10
AR(TP, jet)

1
TP min AR

-1




	Contents
	Page 1


